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Solutions

a) Mean = Sum ÷ # of Data

= 2158 ÷ 30

= 71.93℃

Median = Middle value(s)

    = 72℃
Mode = Occurs most often

 = 73℃

b) Range = Highest ­ Lowest

= 85 ­ 65

= 20℃

SD = √(531.8667 ÷ 29)

SD = 4.282549℃

Variance = SD2

Variance = 18.34023℃2

c) Upper Quartile = ¾ of the data

= 73℃

Lower Quartile = ¼ of the data

= 69℃

IQR = UQ ­ LQ

   = 73 ­ 69

   = 4
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a) We need to check for ouliers. An outlier is any value that is more 
than 1.5 times the IQR above/below the UQ/LQ.
Upper limit = UQ + 1.5(IQR)

= 73 + 1.5(4)

= 79

Lower limit = LQ ­ 1.5(IQR)

= 69 ­ 1.5(4)

= 63

There are two data points above 79 and none below 63. Therefore 
there are two outliers in this data set.

b) Recalculating gives a new mean of 1992 ÷ 28 = 71.14℃, a new 
median of 71.5℃ and the mode is still 72℃.

The median is the best measure to represent the average 
temperature as it is in the middle of the data set.

c) Mean ­ affected by outliers.

Mode ­ It is now the biggest of the three measures of central tendency

a)
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75
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a) Find the temperatures of the 5th and 95th percentiles.

R = 0.05(30 + 1)

R = 1.55

R = 0.95(30 + 1)

R = 29.45
Round down to nearest whole number.

R = 1 R = 29

Find midpoint of 1st & 2nd values Find midpoint of 29th & 30th values

5th percentile = (65 + 66)/2

= 65.5℃

95th percentile = (81 + 85)/2

= 83℃

There is one coffee maker below the 5th percentile and one above the 
95th percentile, so both of these are not recommended.

b) The non­approved coffee makers have temperatures of 65℃ and 85℃.

The sample given is of 30 coffee makers which is probably enough to 
draw a conclusion.

In making a generalization about the variability of the temperature, we 
can use a box plot to identify the interquartile range (middle 50% of 
the data). This strips out coffee makers that are hotter or colder than 
this 50%.

From previous questions we know that the IQR is from 69℃ to 73℃.
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